ELEC 105
Fundamentals of Electrical Engineering
Spring 2010
Homework Assignment #9 – due in class Wednesday, Apr. 28, 2010
(Revised 4/26/10)

Solve problems 14.29, 14.32, 14.33, 5.4 (omit rms and power parts), 5.5, 5.27, 5.28, and 5.30 in the textbook.
Notes and Hints:

You may make reasonable assumptions and approximations in order to compensate for missing information, if any.  Include the details of your solution.  You will not receive credit if you do not show your work.

Prob. 14.32:  The expression for io should be in terms of the labeled resistances and iin.  You may assume that iin is being supplied by an ideal current source that is not shown in the diagram; it is connected between the “free” circle on the left and the reference node.  The “input impedance” is the Thévenin equivalent resistance seen by the input current source, and the “output impedance” is the Thévenin equivalent resistance seen by the resistor RL.  Assume that the op-amp is ideal.
Prob. 5.27:  A phasor diagram is a plot of each phasor as a vector on the complex (Im vs. Re) plane.  Each “vector” begins at the origin and ends at the point that represents the complex value of the phasor.  Examples of phasor diagrams are shown in Figures 5.6 and 5.8 of the textbook.

Prob. 5.28:  First convert the time-domain voltages to their phasor representations, add the phasors, and then convert back to the time domain.  See the example in Sec. 5.2 in the textbook.







































































































PAGE  

